| N of simulated tracks vs transverse vert position | N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

108 -eeeeee e Foeeeeeeen R feeeeeees 10°

A S B A 10tk
104 Foeeeeeenees AR LOH e I

F : Do el L.l E 10°F
1035— """"""""""" é""'.'"".'-"-"' """"" 1035—., """ """""" E

E il E = *

r P B 102k

T
-

10? ?4.‘_0‘ """"" """""" " """""" 1025—

T

DOM DisplacedSUSY _mKFT BDT_

10
Y S DQM _DisplacedSUSY__mkFit_ ] ] [ SR P
|ll|||l|||||| || Lo S |||II|||:11|III||||:
i . . |H|||l|||||| IR £ | §|||“”“”“””| |
0.95L i i 0.0sE 0.95 i ! i i

102 107t 1 10 102 102 16—1 1 102 =30 -20 —lO 0 10 20 30

| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |

10t : T SRLt SLRESELN IS feedee
ol : E T :
- : : F : D et e

1%t ; o i SRR LA bt
I " ' : _ ° °

10%F -3 B 1075 .

T T T
+
s

=
o
I

30 -20 -10 20 30 9 =15 =10 5 0 5 10 15 20 085 i5 10 =50t 15 1520

3 10
B 10 A AR i
6T L



	Contents
	Page 1


